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Philosophy 211 -- Assignment #7

. Prove these sequents.

. Vx(Px = Qx), ¥x(Sx = ~Qx) | Vx(Px — ~Sx)

. Vx(Px — Sx) v Vx(Px — Qx) |— Vx(Px —(Sx v Qx))
~Vx~(Px & Qx) } ~Vx~Px & ~Vx~Qx

. VxVy(Rxy v Ryx) |- VxRxx

. VxVy(Rxy = ~Ryx) |— Vx~Rxx

. VxVyRxy, VxVy(Rxy — Syx) |— VxVySxy
. VxVy(Rxy — Px) |- Vx(VyRxy — Px)
VxVyVz((Rxy & Rxz) - Ryz), VxRxx |— VxVy(Rxy = Ryx)
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6. VxVy(Rxy — Syx), VxVy(Rxy v Ryx) |— VxVy(Sxy v Syx)
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0. VxVyVz((Rxy & Ryz) — Rxz) |— VxVyVzVw(((Rxy & Ryz) & Rzw) — Rxw)

II. Paraphrase these sentences into Predicate Logic. Use the following names and

p

redicates: Aa: o is on Team A; Ba: o is on Team B; Daf3: o defeated 3; m: Mary; g:

George.
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. Everyone on Team A who defeated George defeated Mary.

. Everyone on Team A who was defeated by George was defeated by Mary.

. No one on team defeated both Tom and Mary.

. No one on Team A was defeated by everyone on Team B.

There was someone on Team A who was defeated by everyone on Team B.

. If everyone on Team A defeated George, then someone on Team B defeated George.
. If anyone on Team A defeated George, then everyone on Team B defeated George.

. Everyone on Team A who defeated someone on Team B was defeated by Mary.

. At least two members of Team A were defeated by Mary.

0. Everyone on Team A defeated at least two members of Team B.



